2B K4 T 1) R
1. N % (3) (453)10=(4 X10°+5 X10"+3 X10°)
UToROKE, 285, 8#E, 10, 16 L TRI LI,
. oHERY  SHEEL  10#EEK 165&%& (4) (8765)10=(8 X10°+7 X10°+6 X10"+5 x10°),,
(o) 0 Y 0 0 N - -
- 1 ] 1 » 3. BB OB HEH—10 HE)
e 10 9 ” S T o 2 EE O A 10 EEICEB LR SV, fEROZL ST, ZH#
OEELFRTHZ &,
ceoe 1 3 3 3 iF}I F el
eeee 100 4 4 4 (1) (1),=(1X2°)=(1)1
XYYy 101 5 5 5 (2) (11),=(1 X2'+1 x2°)=(1 X2+1 X1)=(2+1)=(3)10
csssees H? (75 (75 3 (3) (10101),=(1 X2'+0 X2°+1 X2°+0 x2'+1 x2°)
cesccces 1000 10 8 8 =(1 X16+0 X8+1 X4+0 X2+1 X1);9=(16+0+4+0+1)=(21),,
ceoecseee 1001 11 9 9 @) (11111111),
eecocccccoe 1010 12 10 A 7 6 5 4 3 2 1 0
eecccccccoe 1011 13 11 B =(1 X241 X2P+1 X2Z+1 X27+1 X2°4+1 X241 X2°+1 X27) 9
sseececees 1100 14 12 Cc =(1 X128+1 X64+1 X32+1 X16+1 X8+1 X4+1 X2+1 X1),,
S 1101 15 13 D =(128+64+32+16+8+4+2+1) 10
cees """ 1110 16 14 E (255
st 1111 17 15 F =(253)10
cescss """® 10000 20 16 10 (5) (10100111),
ecaesea’"’ 10001 21 17 11 =(1 X2740 X2041 X2°+0 X2*+0 X2°+1 X22 41 X2'+1 Xx2%),
cecccsss = 10010 22 18 12
eeccccccos 10011 23 19 13 =(1 X128+0 X64+1 X32+0 X16+0 X8+1 X4+1 X2+1 X1);9
cescssssss 10100 24 20 14 =(128+0+32+0+0+4+2+1),9

2. B0 HED

DT 100 EHOEAEZFI LR L LT, BiLLRI,

() (1963)10=(1 X10°+9 X10°+6 X10'+3 X10°),
(2) (15)0=(1 X10"+5X10°),

(1) (5)10=(5X10°)1

=(167)10



4. FEEDOIEH10 HH—2 )

LUF O 10 508 % 2 #EHICEB L7230, BROAR LT, BHOBRELERT S Z &,

(1) (9)10=(1001); (2) (256),9=(100000000),

2) 9 1 2) 256 —
2) 4—0 2) 128 —
2) 2—0 2) 64 —
1 2) 32 —

2) 16 —

2] 8 —

2) 4 —

2) 2 —

1

o O O O o o o o

2

1023

(3) (1023),9=(1111111111),



